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1Hs els-0ed

tl.x, t2.amt amt@515,

orlp HEE) MA©O) EBII(V) E2UH) o =
| - WHEN t2.amt IS NULL THEN '00. Non'
select 1. éagéamt amt0a12, WHEN t2.amt > @ AND t2.amt <= 10000 THEN '01. 1~10000'
When ‘tzam‘t IS nu” then 'OO non' ‘LfL\ 1 tZ.amt > 10000 :"‘l*}"‘;h""-“]] tZ.amt <= 3000@ LJHEh‘ l02« 1000@"’30000|
when tZ2.amt > 0 and tZ.amt <= 10000 then '01. 1~10000' WHEN t2.amt > 30000 AND t2.amt <= 100000 THEN '903. 30000~100000'
when t2.amt > 10000 and t2.amt <= 30000 then '02. 10000~30000" WHEN t2.amt > 100000 THEN '04. 100000~
when t2.amt > 30000 and t2.amt <= 100000 then '03. 30000~100000" T TG G
when t2.amt > 100000 then '04. 100000~ —group .
end USer_group INTO [TEMP] . [lovetoken_kr_daily_predset]
into [temp]. [lovetoken_kr_daily_predset] FRONM [dbmart@3]. [kr_daily] t1
from [dbmart03]. [kr_dally] t1 FT JOIN [metainfol]. [prop_rate] t2

left join [metainfol. [prop_rate] t2 o ,
on t1.key_id = t2.key_id tl.key_id = t2.key_id
and t1.sn = t2.sn tl.sn = t2.‘5n |

where t1.dt > = timestamp '2018-01-01 00:00 UTC" and t1.dt < timestamp '2018-05-16 00:00 UTC' REISMS tl.dt >= timestamp '2018-01-01 00:00 UTC' AND tl.dt < timestamp '2018-05-16 00:00 UTC'




dq-*  &- B8 & [ A Gotofile/function %% * Addins ~ £) Project: (None) ~

- @00 R Console _ .
g . &) Untitled1* — (] Terminal
- 5> 3 g ;\ - E y & . - A = Bsource ® 7
S @ lﬂ'" u \) e | mtcars %%
mtcars[sample(1l:nrow(mtcars),10),] ) ~ 2 sample_n(10)
— cyl disp gsec vs am gear carb
1 30.4 4 75.7 4931.61518.52 1 1 4 2
. 2 i 6 .6 S S 18.30 1 0O B B
> mtcars[sample(1l:nrow(mtcars),10),] 3 4 8 .0 3. >. 17.82 0 © 3 4
mpg cyl disp hp drat wt qsec vs am gear carb 4 4 6 .0 3.08 3. 19.44 1 0 3 1
Toyota Corona 21.5 4 120.1 97 3.70 2.465 20.01 1 O 3 1 5 4 8 .8 3.07 4. 17.40 0 0 3 3
Lotus Europa 30.4 4 95.1 113 3.77 1.513 16.90 1 1 5 2 6 .7 8 .0 3. 3. 17.02 0 0 3 2
Merc 240D 24.4 4 146.7 62 3.69 3.190 20.00 1 O 4 2 7 .3 8 .0 3.21 3. 15.84 @ 0 3 4
Volvo 142E 21.4 4 121.0 109 4.11 2.780 18.60 1 1 4 2 8 L 0 2.76 3. 16.87 0 O 3 2
e el Setmimismetl f 0d tmimiaina iy 1
rysler Imperia . . . . .

Honda Civic 30.4 4 75.7 524.93 1.615 18.52 1 1 4 2 S A SRl £ bl UL : ¢

Merc 230 22.8 4 140.8 95 3.92 3.150 22.90 1 @ 4 2

Merc 280C 17.8 6 167.6 123 3.92 3.440 18.90 1 @ 4 4

Mazda RX4 Wag 21.0 6 160.0 110 3.90 2.875 17.02 @ 1 4 4

sample(x, size, replace = FALSE, prob = NULL)

3:1 (Top Level) R Script *
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o RStudio
&= - Addins i -+ & - B Bl & | A Gotofile/function == ~ Addins

L]

o] RStudio

i -+ & - B B & | A Gotofile/function

R Untitled1* '2 Untitled2* = a Untitled1* &) Untitled2* =

4 A B Bsource © . B E E» Source ~ - 7= A ™ Bsource © . B R B Source ~
1 mtcars %>% ;>

1 mtcars[sample(l:nrow(mtcars),10), |
sample_n(10) %>%

/ tb1_df]

1:35 (Top Level) - R Script - 3:9 (Top Level) - R Script -




o RStudio o RStudio
1 - * 1 & - B B & | A Gotofile/function B2 - Addins - ) 1] - + 1 & - B B & | A Cotofile/function B2 .- Addins - B3

o RStudio
R} Untitled1* &) Untitled2* —— ] - * & - B! & A Gotofile/function &= - Addins - E) Project: (None) ~
- A [ @sourceonsave @& - W E - Source ~ 2 untited1* ~ | ).~ & Untitled2
1 unique(subset(mtcars, select = c("vs", "am"))) - A Y Filter

=

mpg * cyl * disp *

Mazda RX4 21.0 160.0

Mazda RX4 Wag 21.0 160.0

Datsun 710 22.8 108.0

Hornet 4 Drive 21.4 258.0

Hornet Sportabout 18.7 360.0

Valiant 18.1 225.0

Duster 360 14.3 360.0

Merc 240D 24.4 146.7

Merc 230 22.8 140.8

Merc 280 19.2 167.6

Merc 280C 17.8 167.6

Merc 450SE 16.4 275.8

2:1 (Top Level) = R Script =

Merc 450SL 17.3 275.8

Console  Terminal —— Merc 450SLC  15.2 275.8

~] / Cadillac Fleetwood 10.4 472.0

Lincoln Continental 10.4 460.0

0
0
0
0
0
0
0
0
0
0
0
0
0
0

Chrysler Imperial 14.7

Mazda RX4 Fiat 128 32.4
Datsun 710 Honda Civic 30.4
Hornet 4 Drive Toyota Corolla 33.9
Hornet Sportabout 0

440.0
78.7
75.7

S S b~ 00 00 0 00 0 00 OO O A~ b~ 0 O O O A O O

71.1

Showing 1 to 22 of 32 entries, 11 total columns

Console




o RStudio o RStudio

- * & - B B & | A GCotofile/function B2 - Addins - £ Project: (None) ~ 1 - * & - B B & | A GCotofile/function B2 - Addins -~ £ Project: (None) ~

&l Untitled1* &) Untitled2* - ] £l Untitled1* &l Untitled2* - [
43 A B BsourceonSave @ PO B Run E» Source - — A B BsourceonSave @ ARl B Run E» Source - —
1 nrow(mtcars) mtcars %>%
length(Cunique(mtcars$qgsec)) ‘ group_by(gsec)

3:1 (Top Level) * R Script *

Console Terminal Jobs — =

~[ > /

! (Top Level) = R Script ©

Console Terminal Jobs — ]
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® 0 RStudio

-+ &- B B9 @ A Go tofile/function

R} Untitled1* &) Untitled2* — )
& A B Bsourceonsave ©® . B B Run E» Source ~+ —
(sqldf)

B2 - Addins ~

sgldf("
SELECT vs, am, count(*) AS n, avg(mpg) AS avg_mpg, avgChp) AS avg_hp
FROM mtcars
WHERE cyl <> '4'

GROUP BY wvs, am
")

1:15 (Top Level) = R Script =

Console Terminal Jobs — (=

~] &

vsS am n avg_mpg avg_hp
1 0 0 12 15.050 194.1667
2 0 1 5 18.500 198.8000
3 1 0 4 19.125 115.2500

EJ Project: (None) ~ -+ & - B B & | A GCotofile/function

® O RStudio
B2 - Addins ~

&l Untitled1* &) Untitled2* - ]
A = BsourceonSave ® . B Run E» Source ~+ —
mtcars %>%
filter(cyl !'= 4) %%
group_by(vs, am) %>%
summarise(n = n(), avg_mpg = mean(mpg), avg_hp = meanChp))

5:1 (Top Level) = R Script

Console Terminal Jobs — )

~] &

n avg_mpg avg_hp

194.
199,
115.

£) Project: (None) ~



) RStudio
1 - *+ & - B B & | A Gotofile/function == - Addins - E) Project: (None) ~ |
R) Untitled1* 8] Untitled2* — .
= A B BsourceonSave @ ,'.""':" . | B Run K> Source - =
1 'mpg_group <- cut(mtcars$mpg,
2 'ﬁ:** breaks = c(-Inf, 15, 20, 25, 30, Inf),
3 ‘s*”§1~~ labels = c("~15", "15~20", "20~25", "25~30", "30~"))
] \s ~~::~~
5 d <- data.frame( \“:\A
6 mpg_group = ngels(mﬁg:group),
7 n = c(table(mpg_group)), “~:§
8 prop = c(prop.table(table(mpg_group)))
9 )
10
11 d
12
12:1 (Top Level) = R Script
Console Terminal Jobs — ]
~] &
mpg_group n prop
~15 ~15 6 0.1875
15~20 15~20 12 0.3750
20~25 20~25 8 0.2500
25~30 25~30 2 0.0625
30~ 30~ 4 0.1250

8:2
Console

~] ”»

mpg_g

~15
15~20
20~25
25~30
30~

O RStudio
| 1 - * & - B B & | A Gotofile/function == - Addins ~ £) Project: (None) ~

) Untitled1* ] Untitled2* — [
/3 A = Bsourceonsave © . T B Run E» Source - =

1 d <- mtcars %>%

2 mutate(mpg_group = cut(mpg,

3 : breaks = c(-Inf, 15, 20, 25, 30, Inf),

4 v labels = c("~15", "15~20", "20~25", "25~30", "30~"))) %>%

count(mpg_group) %>%
mutate(prop = n / sum(n))

(Top Level) = R Script ©
Terminal Jobs —
-~
roup n prop
6 0.188
12 0.375
8 0.25
2 0.0625
4 0.125




o RStudio o RStudio
- * & - B Bl & | A Gotofile/function Be - Addins -~ E) Project: (None) ~ 1 - * & - B B @ | A Gotofile/function B2 - Addins -~ EJ Project: (None) ~

&} Untitled2* &l Untitled1* e (™) &l Untitled2* &} Untitled1* e [
& A = BsourceonSave © . B B Run B+ Source - — & A = BsourceonSave © . B Run B+ Source - —
= row.names(mtcars)) 1 mtcars %>%
2 mutate(car_name = row.names(.)) %>%
" : gather(vals, value, -car_name) %>%
subset(s‘v filter(
mtcars3, car_name %in% c("AMC Javelin", "Ferrari Dino", "Fiat X1-9"),
car_name %in% c("AMC Javelin", "Ferrari Dino", "Fiat X1-9") & vals %in% c("mpg", "hp", "wt", "drat", "qgsec", "disp")
variable %in% c("mpg", "hp", "wt", "drat", "qgsec", "disp") " )
) 8|
9 |
9:1  (Top Level) : R Script * 8:1  (Top Level) : R Script *

Console Terminal —— Console Terminal Jobs o [

~/ ”» & ~ ”» &

car_name

AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino

variable
mpg

car_name
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino
AMC Javelin
Fiat X1-9
Ferrari Dino

O oco~NOWUL S WN -




o RStudio
] -+ & - B #E & | A GCo tofile/function 55 -~ Addins -

KRR Untitled2* Rl Untitled1*
AA & O sourceonSave @ P | B Run K- Source -

mtcarsZ2 <- cbind(mtcars, car_name = row.names(mtcars))
mtcars3 <- reshapeZ::melt(mtcars2, id = "car_name")
mtcars4 <- subset(

mtcars3,
car_name %in% c("AMC Javelin", "Ferrari Dino", "Fiat X1-9") &

variable %in% c("mpg", "hp", "wt", "drat", "qgsec", "disp")

ggplot(mtcars4, aes(car_name, value)) +
geom_bar(stat = "identity") +
facet_wrap(~variable, scales = "free", ncol = 2) +
labs(x = "", y = "") + ggtitle("About mtcars")

£ Project: (None) ~

10:32  (Top Level) R Script

Files Plots Packages Help Viewer

2 Zoom =& Export ~ € Publish ~

About mtcars

AMC Javeln Ferrari Dino Fiat X1-9 AMC Javelin  Ferrari Dino Fiat X1-9

AMC Javeln  Ferrari Dino Fiat X1-9 AMC Javelin  Ferrari Dino Fiat X1-9

AMC Javeln Ferrari Dino Fiat X1-9 AMC Javelin  Ferrari Dino Fiat X1-9

C

o RStudio
] -+ & - B #E & | A GCo tofile/function 55 -~ Addins -

£ Project: (None) ~

R Untitled2* RR Untitled1*
- AA ™ @sSourceonSave ® . B B Run K- Source ~
mtcars %>%
mutate(car_name = row.names(.)) %>%

gather(vals, value, -car_name) %>%

filter(
car_name %in% c("AMC Javelin", "Ferrari Dino", "Fiat X1-9"),
vals %in% c("mpg", "hp", "wt", "drat", "qgsec", "disp")

) %>%

ggplot(aes(car_name, value)) +

geom_bar(stat = "identity") +

facet_wrap(~vals, scales = "free", ncol = 2) +

labs(x = "", y ="") +

ggtitle("About mtcars")

13:1 (Top Level) R Script

Files Plots Packages Help Viewer

9 Zoom =& Export ~ € Publish - ©C

About mtcars

AMC Javeln Ferrari Dino Fiat X1-9 AMC Javelin  Ferrari Dino Fiat X1-9

AMC Javeln Ferrari Dino Fiat X1-9 AMC Javelin  Ferrari Dino Fiat X1-9

.

AMC Javeln Ferrari Dino Fiat X1-9 AMC Javelin  Ferrari Dino Fiat X1-9




o0 RStudio
N BARSEE AN | & A Go to file/function 5% - Addins -~
Rl Untitled2* Rl Untitled1*
™= A ™ @SourceonSave © . B B Run
1 mtcars2 <- cbind(mtcars, car_name = row.names(mtcars))
2 mtcars3 <- reshapeZ: :melt(mtcars2, id = "car_name")
3
,{ﬂ",
5
6
/
3
9 ggplot(mtcars4, aes(car_name, value)) +
10 geom_bar(stat = "identity") +
11 facet_wrap(~variable, scales = "free", ncol = 2) +
12 labs(x = "", y ="") + ggtitle("About mtcars")
113?1 | (Top Level) =
Files Plots Packages Help Viewer
7 %3 Export ~

X | RStudio
EY Project: (None) ~ B BILSEE Al & A Go to file/function 5= - Addins -~
— R Untitled2* RR Untitled1*
E» Source ~+ = = A ™ @sourceonSave ©® . B B Run
1 mtcars %>%
2 mutate(car_name = row.names(.)) %>%
3 gather(vals, value, -car_name) %>%
I
S
6
7
8 ggplot(aes(car_name, value)) +
9 geom_bar(stat = "identity") +
10 facet_wrap(~vals, scales = "free", ncol = 2) +
11 labs(x = "", y ="") +
12 ggtitle("About mtcars")
R Script * 1/[3:%1 | (Top Level) =
——— Files ~ Plots Packages Help Viewer

€ 2 Zoom | ¥& Export - X €
About mtcars
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|| | e | T || | e———— T
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2

£V Project: (None) ~

£/

B Source ~

|

R Script =

IR A AR RN R
R SO SEs

1
Y.
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RStudio

‘ -+ &£- 8B 9 - Bs - Addins -~ EJ Project: (None) ~ ’ -+ &£- 8B 89 - - Go to file/function
8] Untitled2* » &) Untitled1* e [ &) Untitled2* ) Untitled1*
@ A B BsourceonSave © 7. W B Run E» Source -+ = @ A B BsourceonSave © . W
1 res <- list(Q) 1 mtcars %>%
2 2 group_by(cyl) %>%
3w (1 unique(mtcars$cyl)){ 3 select(mpg, disp, hp, drat) %>%
4 mtcars2 <- subset(mtcars, cyl == 1, select = c("mpg", "disp", "hp", "drat")) 4 group_map(~ broom: :tidy(lm(disp ~
5 Ilmfit <- Im(disp ~ ., data = mtcars2) 5
6 res[[paste@("cyl = ", 1)]] <- summary(lmfit)$coefficients
/ 1}
8
9 res
10 |
il (Top Level)
10:1  (Top Level) - R Script - Console  Terminal Jobs
Console Terminal Jobs — = ~]
~/ P
$cyl = 6°
Estimate Std. Error t value Pr(Gltl)
(Intercept) 409.7810370 157.6040990 2.6000659 0.08037125 Adding missing grouping variables: “cyl’
mpg 4.3156170 6.9553459 0.6204748 0.57889061
hp -0.5577404 0.4240994 -1.3151171 0.27995856
drat -67.8987957 21.5800161 -3.1463737 0.05140931 cyl term estimate std.error
$cyl = 4° 4 (Intercept) 292. 94.2
Estimate Std. Error t value Pr(Gltl) 4 mpg - 1.54
(Intercept) 291.95739382 94.2296040 3.0983617 0.01736213 4 hp - 0.340
mpg -4.43485184 1.5364290 -2.8864672 0.02343414 4 drat - 18.3
hp -0.06905319 0.3396118 -0.2033298 0.84466159 6 (Intercept) 410. 158.
drat -15.44260687 18.3034139 -0.8437009 0.42672465 6 mpg 4.32 6.96
6 hp - 0.424
$cyl = 8 6 drat - 21.6
Estimate Std. Error t value Pr(G1tl) 8 (Intercept) 599. 188.
(Intercept) 599.07461416 188.0764183 3.18527235 0.009731938 8 mpg - 7.88
mpg -13.36500593 7.8802088 -1.69602180 0.120737856 8 hp 0.0491 0.531
hp 0.04906465 ©0.5310913 0.09238459 0.928217072 8 drat - 69.8
drat -16.85451710 69.8014973 -0.24146355 0.814075033

RStudio

Be - Addins -~

., data = .x)))
statistic p.value
3.10 0.0174
- 0.0234

- 0.845

- 0.427
2.60 0.0804

0.620 0.579

- 0.280
- 0.0514
3.19 0.00973

- 0.121

0.0924 0.928

- 0.814

EJ Project: (None) ~

= ]

B Run E» Source -~ —

R Script

=0
P
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